

$$u^2 - 11u + 21 = 0 \rightarrow (u-2)(u-9) = 0 \rightarrow \begin{cases} u=9 \\ u=2 \end{cases}$$

(أ)

٢

$$u^2 + 3u - 21 = 0 \rightarrow (u+7)(u-3) = 0 \rightarrow \begin{cases} u=-7 \\ u=3 \end{cases}$$

(ب)

$$\frac{du^2}{x\Delta} - 11u + 21 = 0 \rightarrow a+c+b=0 \rightarrow \begin{cases} u=1 \\ \frac{c}{a} = \frac{21}{\Delta} \end{cases}$$

(أ)

٢

$$3u^2 - 10u + 21 = 0 \rightarrow a+b+c=0 \rightarrow \begin{cases} u=1 \\ \frac{c}{a} = \frac{21}{3} \end{cases}$$

(ب)

$$2u^2 - \Delta u + 3 = 0 \rightarrow u = \frac{\Delta \pm \sqrt{\Delta^2 - 24}}{2} \rightarrow \begin{cases} \frac{\Delta-1}{2} = 1 \\ \frac{\Delta+1}{2} = \frac{9}{2} = \frac{3}{2} \end{cases}$$

(أ)

$$2u^2 + \Delta u + 3 = 0 \rightarrow a+c=b \rightarrow \begin{cases} u=-1 \\ \frac{-c}{a} = -\frac{3}{2} \end{cases}$$

(ب)

$$2u^2 - \Delta u + 1 = 0 \rightarrow u = \frac{\Delta \pm \sqrt{\Delta^2 - 4}}{2} \rightarrow \begin{cases} \frac{\Delta + \sqrt{10}}{2} \\ \frac{\Delta - \sqrt{10}}{2} \end{cases}$$

(ج)

(د)

$$2u^2 + 7u + 9 = 0 \rightarrow u = \frac{-7 \pm \sqrt{49 - 72}}{4}$$

معادلة تربيعية

$$S = 3, P = -2$$

$$S^2 - 2P = 9 + 4 = 13$$

(أ)

٢

$$S^3 - 3SP = 27 + 12 = 39$$

(ب)

$$u \rightarrow \begin{cases} \frac{3 + \sqrt{13}}{2} \\ \frac{3 - \sqrt{13}}{2} \end{cases}$$

$$\frac{V \times A \times 2}{\Delta \times 2} + \frac{\Delta \times 2 \times 9}{4 \times 2} = 21 + 9 = 30$$

(أ)

٢

$$\frac{V \times A \times 2}{4 \times 2} - \frac{V \times A \times 2}{4 \times 2} = (V \times \Delta \times 3) - (\Delta \times V) = (\Delta \times V) \left(\frac{3}{2} - 1 \right) = \frac{\Delta V}{2}$$

(ب)

١٠